Forming and Solving Linear Equations

Q1.
The diagram shows a trapezium.
2oe
4 N B
> o
D > c
2o +4
Diagram NOT accurately drawn
AD = x cm. c -
BC is the same length as AD. 2 >¢ + 2 + oC + Z < +<4 Z g
AB is twice the length of AD.
DC is 4 cm longer than AB. é x 4+ 4 = 3 <
The perimeter of the trapezium is 38 cm. é 2 = 3 -4
Work out the length of AD. 6x = 34 2
= —_— -
x%:fsfs,m

(Total for Question is 4 marks)

Q3.

ABC is a triangle.

Diagram NOT
accurately drawn

lSorceles &  so

Lx =S = laq-=x

3:( ,P'DC: 'cl'(—s-
&> = 24

Angle ABC = angle BCA. x = 24
4
The length of side AB is (3x — 5) cm. _
> = 6

The length of side AC is (19 — x) cm.
F{r‘maéc_r' = S-S 414~ 4 2>

= 4dx 4104
= 4-(6)4—!4.-

The length of side BC is 2x cm.
Work out the perimeter of the triangle.

Give your answer as a number of centimetres.

(Total for Question is 5 marks)
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Q8. (C\ 4’5,)

2 ke [
Here are two squares, A and B. - 4 é, 1+ Zq,
y A < t4 a

A

B

The length of each side of square B is 4 cm greater than the length of each side of square A.
The area of square B is 70 cm? greater than the area of square A.

Arec of 6 (6—7Y4’4—)

Find the area of square B.

Give your answer correct to 3 significant figures. = (-7 S’
You must show all your working.
L
o 2z Z 185628 T ({4 e "’?9'{-
(x+4) = 2 + 70 L lnlanneT cm
(x+4)(x+4) x + 70

/4_ B + |G :/{ + 0 (Total for question = 4 marks)

¥x = 70 —16
B = S 4
>x = L‘F = é -T15 Diagram NOT
14 accurately drawn
A 7x -2 B S 5x +5 T
5x 5x
5x X 4y
b Ox -2 ¢ vV U

All measurements are in centimetres.  =7_. 2 4 ¢x & Sx L qn—2 = 2({‘;@-{)*2(4&.)

The two shapes have the same perimeter. Zéx -4 = 10x +10 4 gx

—X = 1o
Work out the length of ST. 2 ©n¢ L = €<+
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Q2.
o< x
Gemma has the same number of sweets as Betty.
Rt Eer X - 24, X+24
Gemma gives 24 of her sweets to Betty.
Betty now has 5 times as many sweets as Gemma. x+24 = S(»- 2-4—)
C+24& = S —~l20
Work out the total number of sweets that Gemma and Betty have.
24 120 = S o>-K
...................... g, ... &X....
lo€el sweeks = 2x leg = =
4
36 = °¢
- 7 2_ Sw“@; (Total for question = 4 marks)
Q4.
Stephanie is x years old. . x ¢ +#2x +2=- =2
Tobi is twice as old as Stephanie. 2 2C
Ulrika is 3 years younger than Tobi. 2-2¢~-7

Sax -3 =52
The sum of all their ages is 52 years.

(a) Show that 5x — 3 =52

§x =5F§
(b) Work out the value of x. x = &%
<
x=

Q5.

*Redlands School sent x students to a revision day. -4

St Samuel's School sent twice as many students as Redlands School. 2=

Francis Long School sent 7 fewer students than Redlands School. ¥% -

Each student paid £15 for the revision day.

Nouwb £ Ae = -
The students paid a total of £1155 Umbar ot ofo b = 242 + 3¢ =7

= C ~
Work out how many students were sent by each school to the revision day. 4) ?
You must show all your working.
‘§<49L "7) = I €
4 . ~ TRy (Total for question = 5 marks)
2 -— = —
Ky
dx -7 = 17 e dloads 2.1
Ay = 77D $€ Jam 42
4 = %4 Froncis Low 2



Q6.

Asha and Lucy are selling pencils in a school shop.
They sell boxes of pencils and single pencils.

Asha sells 7 boxes of pencils and 22 single pencils.
Lucy sells 5 boxes of pencils and 2 single pencils.
Asha sells twice as many pencils as Lucy.

Work out how many pencils there are in a box.

é Femz(s ¢ 4 L°’<

Tx +22 (O6x + <4
22—-q¢ = (0% — X
(g = Sx
................ (R g
5
() = xC

(Total for question = 4 marks)







